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I. Match List-I {Operation) with List=11 (Crop)

and select the correct answar using the codes
given below the Lists:

List-1 List-11
A. Retting 1. Flax
E. Puddling 2. Rics
C.  Shelling 3. Sugarcanc

3. Earthing up 4, Groundnut

Codes:
A B iZ o
{a) | 2 3
) 2 I 4 3
= | 2 d 3
{d) 2 1 3 4
. Lead poisoning:

{a) Reduces oxypen carrying capacily of
hemceioban in blood

{h) Tnoreases oxyeen carmying capacity of

hemoelobin in blood

(¢) Redoces oxypen carrying capacily of
rrvoglabin in muscles

(d) Incresses oxyvgen cammying capacity of
rrviaglobin in muscles

. Acid min contains:

(a)  Sulphuric acid and Nitric acid

() Carbon di oxide and Carbon mcno oxide
() Methane and Sulphoric acid

() Mitric acid and Hydrochlone acid

. Whal is the animal symbol of WWFE (World
Wildlife Fund)?

(a) Koula Bear
(c) Bed Pancds

{h) Ciiant Panda

{d) Snow Leopard

10,

The maintenance of a constant internal
environment is called

() Symbdiosis

(b} Heterobeltiosis
() Homeostasis
[y Commensalism

WAR is an international binlogical intcrvention

of TINESCO. What 15 full Torm of MAR?
(a) Mammals and Biosphers

(b1 Manmade Biosphere Programme

(c) Man and Bicsphers Progranimns

i) Marine Biclogical Programime

Whal 1% the chemical narme of quick lime?
ia) Calciom oxide

(b1 Caleinm hydroxide

(c] Calcium carbonate

(d) Calcium bicarbonate

Electromvell is a unit of!

(a} Energy

(b} Charge

(o) Potential difference

idy Magnetic force

Which of the fellowing isfare the component(s)
of CPU?

{a) Arithmetic Logical Unit and Control Unit
(b Contral Unit acd bonitor

o) Registers and Integrated Circoils

(el BAM and Motharboard

Storage of 1 KB means the following nurmbser
of bytes:

{a) 964 ikl
{c) 1024 ° el

LK}
054

(Clomtd...}
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Alight sensitive device that convents drawing,
printed text or other images inte digital form is:

{a) Ploter ib) Keyhoarnd
(c) Scanner (] OnR
Who was the founder of Bluetacth?
Al Apple

(b} Steve Jobs

(] Martin Cooper

(] Ericzson

A digament joins:

(a) - Muscle o muscle

(hr Muscle to bone

(el Hone o bone

() Braincells with meninges

Which of the following is the largest shipbuilding
vzl an Toulia?

{a) Crarden Reach Shipvard
by Cochin Shipyard

(e} Hindustan Shipyard
{d)y Croa Shipyard

. Which of the following States is the largest

proviucer of coffee in India?
(A} Karnataka (b1 Kerala

() Andbra Pradesh (d) Maharashta
FCRA stands for:

iz} Forcipn Corrency Rationalization Act
ik} Foreign Contribution Regulation Act

ic) Foreign Clurrency Revalidation Act

(d) Fake Currency Regulation Act

L7,

15,

Match List-TI (Organization) with List-11
(Itz Headquarters) and select the correct
ATEWAET

List-1 Lisi-TT
A WTO . Eomes
. INTERPOL. 2. Wienoa
O UMM 3, Lyvon
. BAG 4. Geneva
Codes:

A H . (B
LELY 1 3 4 2
{b) X 4 3 |
{ch I 2 4 3
(il 4 3 2 I

Consider the following statements about Census
of Tndis 2011

1. A female enumerator 1% the mascot for
Censuws 2011

!:-\.'l

The percemage decadal growdh (2001-
2011} has registered the sharpest decline
since independence

3. Magaland recorded the lowest population
growth rate

4,  Mighest population density was recorded
in Patna

Which of the above isfare commect, Choose your
answer using Lhe codes mven below:

(&) 1and2only
(h) Fonly

(<) 2and 4 only
@ 1,2and3

(o)




14,

1,

Whar iz the comrect sequence of the States
{In descending arder) in terms of population as
per Census 20017

{a) Maharashetra, Bilar, West Bengal, Andhra

Pradesh

{b)  Bihar, Weast Bengal, Mahacasbiea, Andhea

Pradesh

{z) West Bengal, Maharazhira, Andhra

Pradesh, Bihar

{d) Maharazshtra, West Bengal, Andhra

Pradesh, Bilar

The metallurgical process in which a metal is

abrained in a fusad state 1= called:
{a) Smeling (b} Froth flostation
(o) Calcination i{d)} Extraction

Who among the following became first Asian
to win USA’s Golden Reel Award?

() Resul Pookutry
(b AR Rehman
(¢} Shankar Mahadevan
{dy Amitabh Bachchan

Who has been appointed sy new President of
FIFA?

(a} Edwards Mike
(k) Channi Infantino
(c] Hong Martin

) Zinadine Zidane

. Bandung Conlerence refers to:;

(1] Marism {b) Non-Aliznment

ic) Apartheid {d) Imperialism

24

27

28,

. Myanmar's Parliament on 15" March, 2016
elected as the first civilian President o
lead the countey afier 53 vears of military rule.

ra) Hiin Kvaw

(b} Aungz Saan Suu Ky
(¢} Thein Sein

(d} Henry ¥an Thio

In Union Rail Budaet 2016, three nesw freighl
cormridors have been annovnced. Which of the
[ollowing 15 not one amaong them?

{a} Kharagpur — Vijayawada

(b} Kharagpur — Mumbai

(e} Delhi — Chennai

i) Kolkate — Hyderabad

Which element is always present in an
ammalgam?

{a) Na by M

() He {d) Ca

Which of the following is not correct regarding
E-Tourist Visa facilite?

ra) It is & visa izssued electronically, which
allows tourists and short-term rravelers o
get an Indian visa quickly and easily on-
line

The facility was
27 Movember, 2014

At present, the facility 18 available to 150)
Ccouniries

lannchaed

ik

an
(c)
(d) The visa is valid for multple entries and
fior a maximum pericd of 90 days from the
date of arrval

What is the correet sequence of srations as
ome travels from Delhi to Guwahati by train?
(&) Muoghalsarai, Barauni, New Jalpaigurd,
Kokrajhar

Barauni, Kokrajhar, Mughalsarai, New
Jalpaiguri

Mughalzarai, New Jalpaiguri. Barauni,
Kokrajhar

Barauni, Mughalsarai, Kokrajhar, New
Talpaiguri

(b
)

{d)

{Comtd..)
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Match List-T (Railway Zone) with List-1T
iIts Headquarters) and select the correct
ANEWELD

List-I Lisi-II

A, East Central Railway |, Bilaspur

E. East Coast Railway 2. Gorakhpur

. Morth Eastern A Cowahati
Railway

D Sowth East Central 4. Bhubaneshwar
Railway

5. Hajipur
Codes:
A B C I
i) 4 3 ) I
(k) 2 4 3
(c) 3 2 I
el 2 1 3 4

Match List-1 (Diseaze) with List-II
i Pathogen/provention/treatment ) and select the
COTTECE answWors

List-1 List-II

A, Amochiagis 1. Treponcra

pallichen

E. Iptheria 2. Use sterilized
food & water

. Cholera 3. DPT Vaccine

1. Syphilis 4, Use oral
rehydration
therapy

Codes:

A B (L >

(2] 4 3 2 1

ih 2 1 4 3

BY 4 4 2 3

rd) 2 3 4 |

3.

33

Which of the following is not correct?
(2) Brine—Solution of NaCl in water
(b1 Bronze — Alloy of Copper and Zinc

(e} Blue Vitnol — CoS0, {Hydrated Copper
Sulphate)

() Common Salt— Sodium Chicride
Which of the following is not a lake in the

Himalayas?
(a) Tsomgmi
() Tilicho

Which of the following is the correct

chromological order of the formation of the
following States im India?

ih} Panzong Tso
(d} Yangpa

1. Sikkim 2. Mizoram

3. Goa 4. Arunachal Pradesh
Codes:

(ay 3,1,2,4 by 1,2,3.4

(c) 1,2.4.3 i) 4,3,2.1

Mutch List-T {Dance) with List-11 {State) and
select the correct answer:

List-1 List-TI
&, Bagurumha 1. Tripura
B, Cheraw 2. Meghalava
., Mongkrem 3. Mizoram
I, Hojagiri 4. Sikkim

5. Assam
Codes:

(a) 2 ! 5 4
by 5 3 2 1
cy 5 1 4 2
2o 3 4

(Comtd.. )
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34,

Which of the following is the correct group of
Iron ore mines?

{a}  Singhbhum, Bastar, Mayorbhanj, Keonjhar
by Bhadravar, Barauni, Meyveli, Singhbhum
{3 Jadoguda, Singhbhum, Kadeemukh, Jharia
{dy Meyveli, Bastar, Tharie, Ehetri

hatch List-1 (Festival) with List-TT (Stare)
and select the correot answer:

List-1 List-I1

A, EKer 1. Armachal Pradesh
B. Anthuciom Z. Meghalava

. Seknenwi 3. Mizoram

[y, Laosar 4. Tripura

5, Magaland
Codes:
A B C [

(a1 2 4 1 3
by 4 3 5 l
(ci 2 1 3 4
3 3 2 1

Which of the following is not a tributary of

Brahmaputra river?
{a) Kalong ik} Sankosh
(o) Konil (dy Dhaleshweari

Sutle) Yamuna Link (8YL) Canal is a bone of
contention belwesn:

ia) Delhi and Haryana
(b1 Haryana and Punjab
ic)] Punjab and Himachal Pradesh

()] Harvana and Uttar Pradesh

G,

40

41,

43,

Consider the following regarding “hake in
India’ initiative aunched by Union Government.

1. Promation of India as o manufacturing ok
2. Econecmic transformation in India

3. Eliminaticn of unnecessary laws and
regulaticn

Which of the above isfare ohjective(s) of the

"Make in India"7
[y 1 only (b} 2 and 3 omly
c) 3only cdy All arc correct

Minar poats like Kakinada, Machilipatnam,
Bhesmunipatnam and Krishniapatnam are in
which of the fallowing States?

ra) Tamil Nadn

(b} Aandhea Pradesh
() Kerala

{dy Odisha

Hardness of water 15 cauzed due to presence

of
(w) CaS0, (b MalCl

(o) MaHCO, {dy HCI

. Bauxite is an are of g

ial Iron (b Alaminium

e Gold

Scientists warking on MASA s Cassini mission
have identified Mithrim Moentes, the tallest peak
all

(4] Copper

{a) Titan
{c) Rhea

Muother Teresa will be made a saint {official
confirmation by Church that someone is ‘in
hegven” and worthy of veneration s o model
of sanciity by the faithful on Earth on 4%
September, & day before her 19" death
anmiversary. There hava been three other Indian

(k1 Tethys
(d)] Eurcpa

{Contd.)




45,

47.

48,

saints-so far Who of the following is not one
among them?

i) Sister Alphonsa

(b} Father Kuriakose Chavaras
{c)} Father Graham Staincs
{d} Sister Euphrasia

Which of the fellowing is not 4 mcmber in
Mlekong-Crangrs Cooperation (an initiative of six
conntrics) 7

{a) Bangladesh (b} Cambodia
{c) Myanmar (i} Thailand

March List-1 (Winds) with List-II {Region/
Country) and select the comect answer:

List-1 List-1T
A, Bora 1. Egypt
B, Khamsin 2. Awstralia
C. Chinook 3. Spain
3. Levanler 4. Rockies
5. Tialy

Codes:

A B C ¥
{a) k) 1 4 2
{b) 5 i 2 1
{ch 5 L 4 3
{dy 3 2 4 5

Which of the lollowing 1= not linked to Pacific

Deean?

(a) Bass Strail (b Hudson Bay

() Okhotsk Sea

o) Bering Saa
Consider the following statements aboul coral
reels:

1. Corals are o kind of calearesus rock
chielly made of the skeletons of minute
sea oroanizins called “polyps’

449,

Si).

2. Corals can only live in [resh waler

3. For growih of corals the depth of the water
should not excesd 200 m

4. The water temperatore for most
favourable growth of corals 15 23-25
degres Celsiuz

Which of the above isfare correct”? Choose your
answer by using the code given below:

(al | and 2 ondy
(k) 2 and 3 only
(e 1, 3 and 4

(d) | and 4 only

March List-1 (Tribe)d with List-11 (Region/
Country) and select the correct answer;
List-1 Lisi-TI
AL Yokaghics I, Arpenting
B, Kikuu 2, HastSiberia
. Veddas 3. Kenya
0. Gawcho 4. SriLanka
3. Bomeo

Codes:

A B c D
ial 2 1 4 ;
ib} 4 5 3 1
{ch 5 1 4 k]
{d) 2 3 4 1
Which of the following is not a wetland =site

under Ramsar Conventiom?
{a) Lokiak Lake, Manipur
(b1 Bhitarkanika, Odizha
fc) Jaisamand, Rajasthan

(1) Rudrasagar, Tripura

{Canid,. )
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a

(]

51, Which metal

2,

3

_n
v

iz used for coating in

Ga]w_i.ni:rulim?
(ay Copper (b) Zinc
(<) Tin (il Tron

Germany will partner with India to develop
three Cities as Smart Citics. Whach of the
following is not one of them?

{a) Bhubancawar  (by Kochi

i) Udaipur () Crambatore

The Telecom Commission has approved
as defanlt emergency response number

for any sitwation in India, which will replace all

existing emergency numbers within a year of

is irnplementation.

112

fal 911 L

foy 999 oy 108

T'he Union Cabinet has given approval for India
to accede to the Ashgabat Agreement, an
internaticnal transport and transit coreador
facilitating transportation of gomls between
Central Asia and the Persian Gulf. Which of
the following countrics is not a member of the
Ashgabat Agreemnent?

(a) Kazakhstan b lracg

(el Chiman (di Tlzbekiztan

A 108 feet tall idel of Lord Rishabhdeva, the
first Teerthankar of Jains, carved out of 3 single
rack, has entered the “Guinness World Records
‘as the Worlds tallest stature, [t iy located
i1

(a} Karnataka (b} Crujarat

{2 Maharashiva {d) Madhva Pradesh

36.

3.

58.

What is the correct scquence of towns from
West to East?

ia) MNoney, Senapati, Chandel, Ukheul
by Chandel, Ukluul, Senapati, Money
{¢) Neney, Ukhrul, Senapati. Chandel
id) Chandel, Senapati, Money, Ukhrul

sdutch List-I (State Symbol) with List-11
(Seientific Name) and select the correct

ANSWEr:
List-I List-11

A, Uningthcu 1. Prosapis cinerevia

B. MNongveen 2, Cervuy eldi eldi
. Penghba 3. Phoebe haineseni
D. Sangai 4, Swrmaticus humiae

Remline

5. (istepbrama

helangers
Codes:
A B 1 [
{a) 3 3 2
53] 2 L 4 3
el 3 4 ) 1
(i) 3 3 1 2

Match List-1 {Festival) with List-1T
{Associated feature/deity) and select the
COLrect ANSwWer;

List-I List-11
A LuiNgai Mi 1. Lord Vishou
B. Chumpha 2 Besd Sowing
. Kwak Jatra 3, Crop Harvest
13, Lai Haraoba 4, Goddess Durga
3, Sylvan deities
£ Umang Lai

(Coned...)
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Codes: &4, Who was the King of Manipur when Burmese
imvasion, Chahi Taret Khuntakpa ook place?
A B C D = ; H
iap Marjit i) Chourjit
(@) 3 2 ' 5 (c) Madhuchandra (d) Labanyachandra
ik 2 3 4 5 B, . the Political Agent in Munipur was
executed at Kangla on 24" Muarch, 1891,
el 3 2 £ | o
(a) LW Quinton
i o 3 5 i (b Slim
59 Which of the following (Dam: Location) pairs (e} St Clair Grinvwood
i% incormect? (d) 1. Johnstooe
{a) Singda Dam — Churachandpur bz M g .ﬂ.f. thegolios g Seoriaatiy defints
Munggoibi?
(hy Tthai Barrage — Chandel {a} Sacred place of worship of the Goddess
() Mapithel Dam — Ukhrul of War
_ : , . by Abode of Lord Pakhanghba
(4 Bgiauhabilianirseammall {c) Cremation site of the kings of Manipur
a0, What 15 the correct sequence of the districts in (dy Sacred place where the kings of Manipur
terms of seceraphical area (in asconding performed their coronation
s c 67. Which of the following Towns dees nothave a
(21 Senaputi, Chandel, Tamenglong, Ukhrul Municipal Council?
1 : (a) Jiribam {b) Moarang
i(h) Ukhml, Chandel, Scnapat, Tamenglong :
i) Mingthoukhong (d) Bloreh
(c) Senapai, Tamenglong, Chandel, Lkhrul 65 Match List-1 (Sub Division) with List-II
() Chandel, Tamenglong, Ukhrul, Senapat {Headquarters) and select the correct answer:
List-1 List-I1
@1, Manipur has as many as 34 recognised : :
Scheduled Tribes. Which of the following is £ iR T
not one of them? B. Mao Maram 2. Henglep
e o C. Saitn Gamphazel 3. Parbung
{13 Chiru (b} Poa Sareiiising
{ch Zom (d} Mayon D, Sadar Hills East 4. Gammon
62. Keilum Wildlife Sanetuary is located in; Suikul
(8) Chandel b} Churachand Fided;
: : “hurachandpur
] E]i (b r . A & c o
(cl Scnapati id) Tamenglong (a) 3 1 5 Fl
63, The sum of first 100 natural numbers is: by 2 4 3 |
! 3 4 3
(a) 5050 (k) 5500 ol 13 1
iy 2. 3 4 5
o} G (il aelkr

[Cond,, )
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. Which of the following pairs {Famous person-

Title) is corvactly matchad ?

ia) Hijam Irahot — Jananeta

by Bir Tikendrajit — Tarzan of Manipur

e} Laishram Mema Devi — Tron Lady of
Mlamipur

id} Bheigyachandra — Melody King

Which of the fellowing is incorrect regarding

Clensus 20117

()

Dristrict with the least popolation density
in Manipur - Tamenglong

(bl Mot populous district of Manipur—Tmphal

West
(c) Population density of Manipur is higher
than the national average

{d) The Literacy rate of Manipur is higher than

the nalional sverage

From a pack of 532 cards one card is drawn at
random, The probability that it is 4 King js:

fay | (h) 1713
(e} 1426 iy 105z

Nine grganic and exotic agricultural products
from Mortheast India were accorded
Geographical Tndication (GI) registration tag
in March 2015, Which of the following is not
one of them?

(a) Mucoram Bird Eve Chilly
(b} Manipur Eachai Lemon
{c) Meghalaya Ginger

{d) Tripura Quecn Pineapple

Arrange the following socio-religions refornmers
mn the chronological order of their birth and
select the correct answer by using the codes:

1.  Raja Rammohun Koy

2. Ramkrishna Parambansa
3. Rabhindranath Tagare
4, Swami Dayanand Sarazwati

10

74,

T4,

76,

——— = -
Codes:
l:ﬂ} ErEr 1|-4 []J:' 1: ]?14
rcl 1.4.2,3 (dy 2,1,4.3

Match List-I (Writ) with List-11 (Meaning)
and zelect the coerect answer:

List-1 List-T1

AL Cerfiorar 1. Tobe certifiad

B. Habeas Corpns 2, What is vour
authority

. Mandamus 3. You may have
the body

. Ouo Warranto 4, We commanid

Caodes:

A B L [

(ay 2 1 3 4

O 1 2 4

(c] 4 3 2 |

(o 3 4 7

Which of the following islands s not part of
Tndonesia?

(&) sarawak (b} Sulawes

{z) Kalimantan ll Sumatra

Which of the lollowing is incorrect about
Swachh Sarvekshan Survey 20067

A} Cuality Coungil of India (QCI) conducted
this survey as part of “Swachh Bharat
Mizzion

i(b) Mysuro wopped the Swichh Bharat ranking

for the second consecutive tme

(c) Imphal was the only city from the north
eastern states (including Sikkim)in the top
15 cities

(i A total of 73 cites with over 10-lakh

population wers surveyed

(Contd,,.)
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Which of the following teams won the Pro
Kabaddi League (PEL) Season-3 in March
20167

fa) [ Mumba (b1 Patna Pirates

(el Telugo Ticans  (d) Puneri Palean

Which of the following is not correct ahout
Asgam Rifles?

&) Raised onginally in 1833 as Cachar Levy,
it is India’s oldest Paramilitary force

{b) “Friends of the Hill People™ is its motto

(e Although it functions under Minisiry of
Dhefence, its sdministrative control is with
Ministry of Home Affairs

() Tts headguarters are located at Silchar,
Agsam

Whar of the following has been sppointed as
the first Chairman of Banks Board Bureau
{BEB}, a super authority (Autonomaous Body)
of eminent professionals and officials for Public
Scertor Banks (PSBs) and will replace the
Appointments Board of Government:

(al Winod Ra (b} Bimal Jalan

fc) C. Rangrajan  id) Jagdish Bhagwali

In it endesnvor 1o give substantial boost to the
inovation ccosystem and to catalyze the
entreprengurial spirit in the conntey, the Union
Cabinet has given ils approval forestablishment
of Atal Innovation Mission {AIM) and Self
Employment and Talent Uhilization (SETLU

wacer

(al Ministry of Skill Development and
Entreprencurship

(h) MNITI Aayog
(¢} Ministey of New and Renewable Energy

{dy Ministry of Social JTustice and
Emposserment

Bl

82,

B,

8.

“Servants of India Society” was founded by?
ia) Jyotiba Phule () M.G Ranade
(c) VI Savakar () GV Mavlankar

What is the correct chronological sequence of
the following events in the history of Manipur?

.  First Mupi Lan

2. Ehongjom War

3. Puoya Mei Thaha

4. Chahi Taret Khuntakpa

Select the answer from the codes given below:
[a)-3,4, 1,2 (b} 34,2, |r
) 23,41 () 4,3,2.1

The Manipur Merger Agreement was signed
by Maharaja Bodbehandrs and V.P. Meanon at
Shillongon___ .

(a) 17" October 1950
(b) 21% September 19449
{e) 21 July 1940

{d}y 23" March 1948
What i3 Khuba Kizshei?

(al Devolional song in remembrance of
Ehamba Thoibi

(b A rwal associated with Poumai sced
sowing festival

{¢) Collection of literary woarks of
Mahamajkumari Binodini Devi

(ly A cla]:ulu:lance performed during Ratha
Tlra

{Cantd,..)




83, Which of the following statements is not correct

B7

about the Tnner Line Persmt (ILPY svstem?

{a) Ttis aspecial pass or permit of quasi viss
that is required by Indian citizens to enter
protectedirestricted arca of state for a
limited perind

(b Itwas introduced by the then British India

Gipvernment to protect indigenous tribal

peaple from encroachment into their areas

by ouetsiclers

() Union Government notifies the protected
areafrestrcted area ander ILP regime and
stale povernments under the Bengal
Fastern Frontier Regulation, 1873, issne

ILF
el

This permil or quasi visa regime 1s
presently operational in Jammu &
Kashmir, Himachal Pradesh, Nagaland and

Blizaram

Assertion (A): Cyclones over Bay of Bengal
are characrerized by clockwise circulation

Reason (R): Pressure gradient and Coriollis
Force govern their circulation

In the context af the two statements, which of
thae Collowwins is correct?

Both & and B are troe and B iz the correct
explanaticn of A

el

Both A and R oare rue but B is not the
conmect explanation of A

(b}

(o A s e but B s false
(s Ais false bue B s trc

Assertion (A): Laterite soil is very useful for
agriculiure,

Reason (R): Larerite soil is clay formed by
weathering of rocks in a tropical climate and
contains the hydrated oxides of iron and
aluminum,

12

ER,

B,

In the context of the two statements, which of
the following is comrect?

ial

Foth A oand B are troe and B is the correct
explanation of 4

Both A and B arc true but B is not the
correct cxplanation of A

() A1 true but B is falze
{dy A is false but K i3 true

Aszertion (A): The Meadilerranean climate is
characterized by dry surmmers and wet winters,

&)

Reasom (B): Therz is a distinet shift in pressurs
and wind helts with respect to the movermnent
of sun

In the context of the two statements, which of
the following is correct?

(al Both A and B are true and B 15 the coceact

cxplanation of 4

Both A and B are true but B is not the
correct explanation of A

(b}

{o) A s druc but B s Talse
{d) Ais false but It is e

Match List-T (Special Charactenistic) with
List-TT {Mame of Plana and selact the correct
B B

List-I List-IT
A. Largest Planet . Mars
B. Earil's Twin 2, Venus
C. Planetwith Rings 3. Satum
. Eed Planed 4, Plute
3, Jupiter

Cuodes:

A B Z [
(a) 3 | 5 2
I 3 2 ]
(ch 5 2 3 |
i3 ] 5 4

(Contd. .
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Which of the following metals iz mixed with
iron e producs stainlass seal?

(a) Titaniwm (b1 Zinc
(] Chroanium id) Tin
AvakanYorma is

(a}
()

Extension of Himalayas in Myanmar

Muclear Power Plant in Japan which got
destroved in recent carthoguake

i)

Island in Japan Sea which is disputed
hetween China and Tapan

(<}
Assertion (A Saon after the resionation of
the Congress mimslnes in the Proviness in 1939,
the Muslim Leasue obzerved a "Deliverancs
Dy,

Reason (R): B.R. Ambcdkar supported and
joined it

Japanese Ajrcraft during World Wir-11

Tn the context of the two statements, which of
the following is correct?

Eath A and B are troe and B 15 the corract
explanation of &

ia)

b Both A and R are toe but B is not the

correct cxplanation of A
(e
)

Twitter has launched campaign for
WMmen empowernment 1o ralse volce against
any Torm of diserimination in India.

A s troe Bot B s false

A is Falze bt B is trme

(a) Cender Power

{b} Position of Strength
{c) #lnitedW

id) Strength of Women

YWha of the following Indian Umpire has been
promated to the International Cutdoor Umpire
by International Hockey Federation (FTH)?

ial BrojerSingh  (h) Thoba Singh
e} Mapoleon Singh (d)  Surjalata Devi

13

94,

i

Which of the following pairs (Sporsperson
from Marth East — Sports with which
associated) s not correctly matched ?

ia) Aihorlang Khongjee — Hockey
(I3} Chekrovole Swura — Archery
ic) M. Soniva Chann - Weightlifting
(d} Shiv Thapa — Boxing

Which of the following {Term associated with-
MName of sport) 18 net correctly matched?

(&) Rubber — Bridge

(b Chukker — Polo

(c] Caddie — Golf

i) Pitcher — Billiards

Censider the following statements:

1. The Rajya Sabha or the Upper Houwse his
11 nominated members

2. The President recommends the names of
the nominated members - deawn from ficlds
such as literature, science, sports, art and
social service-on the advice of the
aovernment

3, MC Mary Kom, Warendra Jadhay and
Suresh Gopi are among the six persons
nominated for the Upper Houwse recently

4, The nominated membaers have o term of 7
VLTS

Whichi of the above isfare correct? Select the
answer from codes miven below:

Codes:

(a) 1 and 3 only
(b 0, 2and 4
(e 2und 3 E&n]:.r

(d1 All arc correct

{Comtd...)
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[ES

Which Country won the Soltan Azlan Shah
Hockew Cup-20167

ra) Malavsia (k1 South Korca
(e India (ed) - Anstraliz

PM Narendra Modi on 14™ April, 20016
launched ‘Gram Tdav Se¢ Bharat Udavy
Abhivan® at o the 125% hirth
anniversary of Dr. B.R. Ambedkar 1o
strengthen Panchayati Raj in villages and
ensure social harmony in villages,

{a) Wlhave, MP

(b} Muh, Haryvama
(i) Jamshedpur, Jharkband
iy Sambalpur, Odisha

. According to the latest survey by the Bconomist

Intelligence Unit {EIL), which of the following
is the most expensive city of the World?

(a} Zurich [ Paris

(o) Scoul iy Singapore

What is Zoctfera soliwelil?

(@) A new species of burrowing anake
dizcoverad in Western Ghats

(b Anew species of bied discoversd in Morth
Easzt Inglia

() A new species of bush frog discovered in
Western Ghats

{dy A new species of cochid discoreered in
Arunachal Pradesh

. The & BRICS Sommit from [5-16 Qclober,

20106 will be held in .
i) Crandhi Nagar (b} Goa
(o Mumbai (d) Mew Delli

in partnecship with stodents from
ITT, Delhi has lannched iWork @home, an
inilative that allows women emplovess o work
from home for up to a vear,

() ICTCI Bank (b1 Wipm
(el TOS idy LIC
14
- p— ci—

104,

06,

10¥7.

Recently, the Cabinet Committes on Bconomic
Affairs [CCEAY has approved winding up of
o sl up in 2004 by the LPA
Government as a forum lor policy dialegue
between the industry and the Government.

(a)
(k)

MNational Advisory Couneil

Matienal Manutacturing Competitiveness
Conmcl

(c) NAASCOM

{dy Mational i-Fomam

5, India ranked E1E™ out of 157 countries in the

tonmh World Happiness Repart, 2016 published
by . a global inigative for the
LI,

ia)
(bl
(e
)

Grean Ceonomy
Cilobul Environment Facility
Better World Campaign

Sustainable Development Solutions
Metwark

HRIDAY (MNational Heritage City
Development and Augmentation Yojana)
scheme was launched by Union Government
recently to conserve heritage of 12 cities, Which
one of the following cities 15 not included in
this?

() Mathura (h] - Amarawati
fch Ajmer (d)  Ujjain

Who iz the Chairman of Commitles on MNew
Education Policy?

ia) T.5.K. Subramanian
(b1 N.T. Subbarao
(C) Subramaniam Swamy

(1) I]i‘-!mu: of the abxve

(et
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1n.

The Aszenbly of which of the folloswsing MNocth-
Hastern Stafcs passed a resolution on 7
August, 2015, requesting the Centre to amend
Section 302 of the TPC to abalish Capital
piuinislanent?

ih) Manipur

(d} Meghalava

Which of the following Courts niuled on 6% July,
2015, “An unwed maother must be recognized
as the legal puardian of her child amd she cannot
be forced to name the father ™

ia) Delhi High Couort

ib} Gavhali High Court

ic) Supreme Courl of India
id) Chennai High Clourt

Two dice are thrown together. What is the
prohability of getting 6 on hath dice?

fal 146 k) 1012
ie) 1024 (el 1536

Clemency in Capital punishment may be
aranted by

ta} President of India

(b} Chicf Justice of India
(¢} Prime Minister of India
(d} The Parliameant

a) Tripura
(o) Nagaland

Disputes reparding the election of President of
India arve tiled and settled:

(a) Inthe Suprems Court of Tndia

(b1 In the Parliament

(¢ Inthe Election Commmission

{d) Bath in the Supreme Courr & High Court

Manipuri language was inscried in the &0
Schedule of the Constitution of Tndia by:

{a) The Constitution (902 Amendmenty Act

{h) The Constitution (71* Amendment) Act

{3 The Constitution (724 Amendment) Act
{d) None of the above

[

14,

114,

117,

113,

11%.

Special provisions with respect to State of
Manipur are provided in Indizn Constitution
under__

(a) Article 3T1-A
(o) Article 371-C

(b Acucle 370-E
(el Article 372-D

A Bill authorizing expenditure by the
Cvertirnenl s

(a) Money Bill
() Finance Bill

(b} Appropriation Hill
id} None of the above
The Constiturion (Ninstv-first Amendment) Act,
2003 mude a speeific provision that, the total
nurrther of Ministers, including Prime Minister,

in oo case can excead of the total
nutker of Lak Sabha members.

(et 100%: b 15%
(e} 20% iy 25%

In the following right angled triangle, the length
ED of perpendicular from B to the hypotenuse
s

A
im > Sm
i 4m =
(a] 2.2 m (b 24 m
(e} 2.5 m (d) 2.6m

The ferritorial extent of the Indian States and
Union Territories is prescribed in the:

ia) First Schedule of the Constitution
(k1 Second schedule of the Constiluiion
(el Third Schedule of the Constitulion
(d) Fourcth Schedula of the Constitetion

The dury of the parenls to provide oppomunitics
fiou education to his child i prescribed in:

(a) Article 51-A
(c) Article2-A

{hy Article 51-B

() Momc of the abowve

{Cannd,.)
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Eocently, the Union Governiment has laonched
World"s first Bio toilct train, Name ir:

(a) Dibrugarh Rajdhani Express

(1) Duranto Express Mumbai-Amritsar
() Himsagar Express

(d) Divyaang Express

How many Rurban clusters are o be develuped
under Shyama Prasad Mukherjee Rurban
Mission:

(a) 200 () 300

(c) 400 () S00

will be starred under
Maticnal Health Mission through public-private
partnership mode to provide dialysis services
to renal patients in all district hospitals scross
the country.

{a) Matiomal Services Programme for Renal

Patients

{h)
{2

Mational Dialysis Services Programime
Maticnal Dialvsiz Progeamine
id) MNational Dhalysis Services Project

Assertion (A} An iron ball floats on mercury
hut sinks in water,

Reason (R): The specific gravity of ivon is
mare than that of mercory,

In the contexn of the two statements, which of
the following is comrect?

{2) BothAoand B oace troe and B 15 the comrect
explanation of A

(b Both A and B are true but B 15 not the
correct explanation of A

() A s true but B s falsc

(el A s false but B is e

124,

125,

126,

Leakagaes in houschold LPG can be detected
becaus: of the strong smell of mixed
with LPCL

ta) Fthyl Mercoptan

(b} Methy] Bromde

(e} Formaldehyde

i} Ammmonia

Assertion (A): Pressure cookers are fitted
with ebomnite handlas.

Reason {(R): The chonite 15 2 bad conductor
of heat.

Im the context of the two statements, which of
the following is correct?

Both A and B are true and B 15 the comrect
cxplanaticn of A

()

(b} Both A and B are true but B iz not the

correct explanation of A
i)
(d)

A 15 truge but R s false
A s falze bt B s troe

Assertion (A): Goitre is a common diseasa in
EOGLTILE TICILS T ions.

Reason (R): The diet of inhabdtants of
munkaing is poor in iodine content,

1n the conrext of the two statements, which of
the following is correct?

()

Both A and B ace troe and B 15 the correct
explanation of A

Bath A and R are true but B is not the
cormect explanation of A

{h)

fo) A Ds tme b B s false

fdy A Qs false bt B s true

{Comtd...}
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Match List-T (Famous Persons) with Lisi-TT
(Field with which they are azsociated) and
select the correct answer:

List-I List-II

(4] Tych Mehta 1. Theatre

(B} Sudhir Tailang 2, Banking

{C) Anoushka Shankar 3. Painting

(D) Arundhati Bhattacharya 4. Drawing
Cartaons

5. Classical
Singring
Codes:

A B C D

(@ 5 4 3 2
b 4 3 2 I
el 4 3 L 1
dy 3 4 5 2

Whalt 15 Tkebana?

() Musical instmement

{b) Japaneze art of fAower arrangement
{¢) Muoral painting

(d} Note in classical singing

Om 18 Augnst, 2015, which of the following
airport became first in the World to operate
completely on solar power?

{a} Indira Gandhi International Airport
(b Cochin International Airport
(¢y Gopinath Bordoloi International Airport

{d} Metaji Subhash Chandra Boge Airport

120, What is the correct sequence of the Staces

131.

133.

134,

in terms of the length of the International
Border with Mvanmar in descending
order?

{a) Armnachal Pradesh, Mizoram, Manipur,
Magaland

{b) Nagaland, Manipur, Mizoram, Amnachal
Pradesh

Mizoram, Magaland, Arnachal Pradesh,
Manipur

()
id) Manipur, Mizroram, Magaland, Arunachal
Pradesh

With which country does India share its longest
International Border?
(&) Myammnar ib} Bangladesh

(c) China (d} Pakistan

- Inwhich of the following regions of Myanmar

is Tamu, the bordering town of Myanmar near
Mureh, located?

(a} Sapainp i(b) Shaan

(e} Chin (d) Rakhina

Which of the following is the southern most
city?

i) Hanoi {b) Vicntianc
() Bangkolk (d} Phrom Penh

Li-Fiis a new bidirectional, high speed and fully
networked wireless cormumunication technology
siemilar to Wi-Fi, What is the full form of Li-Fi?
{a} LightFidelity  (h) Laser Frequency

ic) Limitless Finite {d) Light Field

(Contd...)
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Starting from point A, Gauray walks 20 meters
wweards south, terns left and walks 30 meters.
He then wurns left and walks 20 meters. Again,
he turns lefl and walks Hrmeters to reach point
B. How far and in which direction is point B
from point A7

ral L0 meters, west
(1 10 meters, north
(c1 200 meters, north
[l 30 meters, west

In a certain code language, MADRAS is
culed as NBESET, how will BOMBAY he
codledd in that code?

{2) CPNCEX
() DENCBX

{hy CPNCBEZ
{dy DPNCEZ

. Book “Farthest Field: An Indian Story of

Second World War'” has been authored by
i) Ramchandra Guha

(k) Kartar Lalvan:

ic) Raghu Kamad

id) Durga Thakur

Whir 15 the present Chief Justice of the High
Court of Manipur?

(a) Justice Rakesh Ranjan Prasad
{h) Justice Laxmi Kanta Mohapalra
(€} Justice M, Kotiswar Singh

{d) Justice Ablay Manohar Sapre

O 6™ March 2006, the inventor of B-mail and
the man whe picked & symbal for addresses,
— passed away in Washington.

(ay Tan Murdock
(b} David Bavarie
(e} Paul Buchheit

i) Raymond Samuel Tamlinson

15

Fddh,
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143,

144,

143,

Who has been appointed as the new CED af
MITL Aavog?

(@) Anil Swarap

(h) Sindhushree Khollar
{3 Aumitabh Iant

{d) Arvind Pangadia

World Braille Day isobservedon
commemarats the birth anniversary of Louis
Braille acrous the plobe,

(al 4% Jannary (b 21 February

(c) 14" hMarch [y 7 December
shankar Ghosh, who died recently, was
associated with

(&) Wildlife (b Tabla

() Cinerna (d} Painfing
In fireworks, the green [ame is prodoced
hecanse of

ra) Bavium ib) Phosphoms

(el Potassium () Bromine
The First Indian Stale to legally accept
clectronic motor insurance policias is

(a) Chhattisgarh (b} Karmnataka

() Telangana (d} Gujaral
Asitnation in the econamy in which the inflation
rate is high, the economic growth rate is slow,
and unemployment remaing steadily high is
colled

ra} Fecession (b Deflation

) delfﬂalimt rdy Depression

{Canrd,..)




146, Which of the following 15 not comrect about

147,

143,

[,

1500,

Matignal Youth Festival?

It iz celebrated Lo commemarate the birth
anniversary of vouth icon Swami
Yivekananda on Janoary 12

(a)

ik} I3 orpanieed by Ministry of Youth Affairs
and Sports, Government of Tndia in
collaboration with one of the State

Crowemmimants

The MNaticnal Youth Festival 2006 was held
at Shimla in Himachal Pradesh

(c)

(d) The theme for the National Youth Fesrival
2016 s “India Youth for Skill, Development

and Harmony'

India Post, which has received RB1's approval
tor Payment Banks will start its services by

(at Tune 206 (h) Cctober 2016

{c) March 2017 () Aprl 2007

Who has bagged ‘FIFA Women's World Player
Award-20157

{iy TENs {b} Carli Llyod

{20 Jomelle Filigno (dy Wendell Lira

The amount of ground displacement in a
carthquake is callad

fa) Dip (k) Slip

(c) Focous (il Thrust

The Rajya Sabha cleared the Juvenile Justice
i Amendment) Bill, 2013, lowering the age of a
legally detinesd juvenile from 18 w in
casc of heinovs crimes.

Ca)l 13 vears (h) 14 years

() 15 wears

(d) 16 wears

19

151,

[53.

154,

155,

Ina bid e fight pollution, the Union Govermment
has decided to implament Bharst Standard
(BS3-%1 emizsion norms by

(h) 2020
(cly 2025

{a) 2018
(o] 2022

Who won the 2% edition of the Hero Indian
Super Leapoe in December 20057

(4] Chennaivan FC

ih) FC Goa

(el Addético de Kolkata
{dy Mumbai City FC

As per Census 20011, which of the following is
the correct sequence of different comimunities
in descending order of litcracy percentage?

{a) Tain, Christian, Buddhist, Sikh
by Sikh, Jain, Christian, Buddhist
(ed Christian, Sikh, Tain, Buddhist
{d} Jain, Buddhise, Sikh, Christian

During blood cosgulation, thromboplastin is
released by

{a) REC

(b} Blood Plasina

(c) Leucocvias

(d) Clumped Platelets and damaged tissues

The deposition of cholesteral on the walls of
Blood vessels canses the arteries w lose their
elasticity and pet stiffencd. This is called

(&) Hypotension
{b) Hypertension
() Svstolic Pressure

{dy Adteriosclerasis

(Conrd,..)
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Who was the Chalrman of Diratting Committes
of the Indizan Constitution

(a) M. Gopalaswamy
ib) Dr. B.R. Ambedkar
(e) K.M, Munshi

() M. Madhava Bao

157. Match List-1 (Article under Indian

[53.

Constitution) with List-T1 {Provision) and seloct
the correct answaer:

List-I List-IT

AL Aricle-Z1 . Protection against
arrest and detention in

corkain cases

B. Asicle-22 2. Protection of 1ife and

personal liberty

Prohibiticn of
empayment of
childran in factones

. Aricle-23 3,

el

D. Amicle-24 4. Prohibition of traffic in
human beings and
forced labouwr

Codes:

A [+ - D

ial 2 1 4 3

&) 4 3 2 1

ic) 1 2 3 4

) 2 4 g

The concept of Directive Principles of State

Policy in Indian Constitution was borrowad
from the Constiturion of:

(k1 Britain
(d)  Auvstrealia

(a) Genmany

(c) Ireland

Pirections for Ouestions 1539 and T60: Reod the
Sollowing infarmation carefullv and answer the
guestiony given below ft:

Eight studemiz AL B, C, D, K F G and B are
planning fooenjoy o cor rece. There are only teo
cars and following are e conditions:

159,

L0,

1, e cor oo goconmsiodale wrcimmm
five and minimum four students

2, A will 5t in the same car inowhich D o
sitting but H is not in the same car

300 B oand O cant it in othe same cor in
which I ix xitting

4. F will zir in the car of fowr people only
alomgy with A and I hut certainly not
with &

If H and 5 are sitting in e sarme car, who are

other two students sitting in the same car?

(a] Band C ity Cand D

c) Band D (d) Eand B

IfE and A ave sitting i the same car, which af
the following stataments is tre?

ia) Five smdents are sitting in the same car
(k1 B is zitting in the samsa car

(c) Fisnotsiing in the sams car

(d) 3 is noc siting o the same car

Divections for (eestfons I6l and 162: Recd the
Jollowing informiation carefully and answer the
guestions given below I

Il

1. A B C D Eand Fare six members in
@ fomily in which there are two married
couples

2. I ix hrother of F Both D and F are
lighter than It

3. B iy mather of 1) and lighter than E

4. C, A lady, iy neither heaqviest nov the
liphtest in the fomile
3. Eiy lighter than

t.  The grandfuther in the family iz the

feaviest

Which of the lollowing pairs 15 a marmed
couple?

(a) AB
(c) AD

by BC
(d) AE
(Comtd._.}




162, Who among the following will be in the second

153,

164,

166,

[657.

168,

165,

place il all the members in the family are
arranged in the descending order of their
weights?

fa) A b

ey D {d) Data inadequate
How s E related 1o IF?

{h) Brother

id) Data inadequate

Pointing to a man in a photograph, Reema said,
*His mother’s only daoghter is my mother”.
How i3 Reema related to that man?

(bl Niece
(d) Grand daughter

(a) Grandomother
(c) Father

(al Hister
(o] Sister in law

3. Inacity, 40% of the adults are illiterate while

B5% of the children are literate. I the ratio of
the adulis to that of the children is 2:3, then
what percent of the population is literate?

{ay 20% (o) 5%
(o) S0% (dy T3%

Atires 3 shots to B's 3 shots bur, A kills only
ance-in 2 shots while B Eillz once in 2 shats,
When B has migssed 27 times, A has killed

() 30 birds (b} &0 hinds
(g} 72 birds (d) 90 hirds

If 5 spiders can catch 5 flies in 5 minutes, how
many flics can 100 spiders catch in 100
minures?

{a) 100 (b} 300
{c) 100K (d) 2000

I1'2 persons weave 336 shawls in 14 days, how
many shawls will B persons weave in 5 days?

(a} LED (b} 210
(c] 252 (d) 320

Two persons can complete a piece of work in
% days. How many more peraons are needed
tocomplate douhle the work in 12 days?

[z 1 by 2
{c) 3 (d)

21
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171,

172,

173,

|74

Six bells commence tolling together and toll at
intervale of 2,4, 8, 10, 12 seconds respectively.
In 3} minutes, bow many dmes do they ol
together?

ia) 4 iy 10

(c) 13 oy 16

Find the odd one ot of the following:
{a) Yeast bl Mlomld

ic) Sinut d) Mushroom

Find the odd one out of the following:
ral Scarlet (b1 Crimson
(o) B {dy  Yermillion

Find the odd one out of the following:

[a) Kiwi by Dstrich
{c) Eagle () Penguin
Find the add one out of the following:
{a} Infant bl Do

ic) Kitten ) Cub

irections for Questions 175 ond I76: Chosse
the waord i the answer oode similar fe the weordy
i e groyp!

173,

176,

17T,

[7H.

Marble: Slae: Gueiss: T
ik}l Coal

(d}y Sandstone

(&) Limestone
() Oartzile
Pimitary: Thyroid: Pancreas:?

(b1 Liver
() Addrenal

ray Heart
(o) Kidney
India’s First Rail Auto Hub will be setup ar
(b Chenna

(1) Kolkats

The Asian Development Bank has its
headquarters at

{a) Bangkok

(a] Surat
(o) Bengalum

ik} Singapome

{¢) Manily (d) Hong Kong

(Coad...)




LNrecitons for Cuesiions 79 and 180 Find simifar
relationship between the given pair af the wards:

179, Savape: Crvilized . 2 -7
(h) Diark: Lighted
{cdd Brotal: Heroic

{a) [literae: Book
() Wild: Animal
180, Apostate: Religion 2?2
{a) Teacher: Bducalion
(b Adler: Law
(e} Trawor: Country
(d) Potentate: Kingdom

I a class of 60 students, girls are twice that of
bows, Yogaesh ranked seventeenth from the top.
If there are nine girls ahead of Yozesh, how
many boyvs are after him in rank?

(a) 3 thy 7
ey 12 (dy 13

What is the motte of Central Burean of
[nvestigation (CHD?

ta} Industry, Impartiality and Integrity

181,

152,

b}y Clommand, Control and Vigilance
(e} Intcprity, Bxecllence and Perfection
ity Honesty, Integrity and Service

182 T oo ocertain code BATL 15 written a5 KOT™

and SPEAK 15 written as OGRLUN, How will
AVOID be wrtten in that code?

(a} FROXC by KOQXCE
(¢} KRXCF () KOVCE

Which computer memory is wsed for storing
program and data curmently being processed
by the CI'LI?

(a} Mass mamory

184,

(b} Internal memorsy
(¢} Mon-valatile memory
(d} PROCH

3. Which part of the computer is used for
calzulating and comparing ?

(al sk umit
(el ALL

(1 Codrrol v
(d} Maodem

183, Who invented the Microprocessor?

157,

188,

184,

190,

ra) Marican E. TTualT
(b1 Herman H. Goldstein
() Joseph Jacquard
(41 All of the above

Which American Computer Company s called
the big blue?

() Microsoft by Compaq Corporation
(c) TBM {dy Apple

hMatch the following using the codes aiven
heloa:

List-T [ Tern)

(A0 Mnemonics

List-TI (Description)

I. Seillesy cultivation of
anis

(B) Hydroporics 2. Study or collection of

cotns, banknotes, ancd

irvedals

Scientfic discipling
concerned with the
understanding of
intcractions among
harmans and other
elements of o svalem

() Ergonomics 3.

{027 Mumismatics 4. Memory devices thit
help learners cecall

larger picces of

infrmation

Codes:

A B E.‘ I3
{a) 2 I 3 4
(i) 4 I 3 2
{ch 3 2 4 1
{d} 4 3 s |
Which of the following is essential for binlogical
nitrogen fixation in leguminons plants? =

() Chlorophyll
i) Anthocyanin

(b Molvbdenum
(d} Leghaemoglobin

Which of the following plant hormones is a
growarth inhibitor?

far TAA
re) Dommin

(bl GAZ
i}y Cytokinin

(Contd...)
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193,
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Wivipary is:

ta) Froitdevelopment without pollination

(b CGermination of seeds inside fruil while the
lacer 15 still attached to plan:

ic) Growing of plants under contralled
conditions

id} Froil ipening treatment in banana

Consider the tollowing stalements sbout *Zika

Virus" and discase which was recently in news;

1, 1tis named after “Zika’ forest in Ethiopia

2. Tewess firstidentitied in Rhesus monkeys

3. Aedes aepypti and Aedes Albopictus are
the vectors of Fika Viruy

4. Guillain Barre Syndrome and Microvephaly
in babies are the two major dizeases linked
with Zika Virus

Which of the above is correcl. Select your

answer using the codes given below:

I, 2 and 4

{2) I and 3 cnly (k]
() 2,3 and 4

___are test [acilities where plants are
cxposed o radiation, in order to gcnerate a
range of unpredictable mutations, more quickly
than would happen due to non-radiated
envirenmental exposure,

(d) ALl are commect

{#) Gamma Gardens

{10 Tissoe Culiure Laboratories
(¢) Lambda Phage

{d} Moll™s Leaf

FSSAL stands for

() Fire Safety and Standardization Authority
of Tncdiza

(hi Food Safety and Standands Authority of
Tnclia

(<) Film Sereening and Selection Authorily of
India

() Foud Standards and Sampling Authority of
India

3

195.

190,

147,

194,

194

200,

Whe amoeng the following persons from Manipur
has been selected for the prestigious Sangest
Matak Akademi Award 20157

{4) GFangmed Aluna Eabuini oand W,
Lokendrajit Singh

(b} MNingombam Ibobi Singh and L.
Ibehalmacha singh

fer Amusang Devi and MK Saroja
i} Ibopishak Sharma and H Nganghi Devi

‘Kalinga Award' iz given by UNESCO for
contreibution m the field of

(b Litesatore
(dy Politcs

Who among the following was declared the
2015 AIFF Woman Footballer of the Year?

Cad IMwari Xaxa

(&) Science
{c) Spors

(b} Meangom Bala Devi
(c) Oinam Bembem D
(d) Dangmel Grace

A man is standing at distance of §60 m from a
chiff. He hears the first ccho of his clap after 4
sccond, The speed of the sound inairis_

(&) 163 m'ks (b 330 mis

() 660 ms (dl 13200

A man is travelling in a lift. The lift moves up
wilh acceleration of + a mfA®. The weight of
the man in the weighing machine kept in the lify

(a] Incresscs (b Decreases

ic) Remaing same  {d) Becomes zero

Acstick 1= immersed in elear water ol an angle.
When viewed from top the shape of stick would
b .
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